m 350 EXC-F SIX DAYS CKD 2022 <2022><CN><F8287V2>

ACCESSORY PACK
57654
OHNE ABBILDUNG
WITHOUT ILLUSTRATION
l
TECHNISCHE DOKUMENTATION v
TECHNICAL DOCUMENTATION
DOCUMENTATCION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE
Pos Part Number Description Additional Text Quantity
0 79603040033 FOOTREST-SET 1.00
0 58411098100 CONTACT WASHER M6 VSV-K6 2.00
0 0025050126 HH collar screw M5x12 TX30 2.00
0 79103094100EB Frame protection set 1.00
0 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 1.00
0 77405009065 Plug screw M12X1.25 WS17 1.00
0 77229072100 Spark plug wrench, WS=14 1.00
0 7900998106004 FRONT AXLE PULLER KTM CPL 1.00
0 79039074100 Map switch 1.00
0 79602182044AB Handguard kit 1.00
0 79602084044 Handguard assembly kit Brembo only 1.00
0 77202002144 Bar pad cmpl. 1.00
0 79002014100 CAM 4-T 39,5 MM 1.00
0 79708078038 Displacement label 350 EXC-F S 1.00
0 0081050181 SCREW FOR PLASTIC K50X18 T20 300 TPI Erzbergrodeo 1.00
0 54812063044 REAR BRAKE PEDAL SAFETY WIRE 1.00
0 79203090044 Skid plate 250/350 cpl. 1.00
0 81212016100 WASH CAP SET 1.00
0 000700000ANO1 Dummy plug 4-pins 1.00
0 52000238SET Sticker set Xplor OC 238x182.5 1.00
0 78141013190 FUEL FILTER 3.00
1 32144247H Owner Manual 350 EXC-F '22 1.00
29 A54029099000 Tool set 1.00




